(60 =)

ROG&H (1), (i) Z2EBITHETEDERANZIXNTRDXK.

(i) NOEDOHKEIT 12 {E.
(i) NOEDKEZNIWENSIEICEREEE, TEBBOHKIT 12,

ZEL, NOHEICIZ1ENDBEDS.



N DIEDHEZE/NSNEZO>MLIEIZ, al,22,23, =====-- al2 &%,

ND7ZFBEEDOHEA12THY. 1208FMN. 1, 2, 3, 4, 6, 12 THH EMD,

1,2,8, 4,6, 123 N DHHATOHEZEN DD,

2T, BABOLUEEET HEMMELEMELAANSELEHT. ChOEERT

HBDE.RD2DODFENEZLOND,

al a2 a3 a4 ab ab a’ a8 a9 al0 all al2

‘ || . L L | || | | | || | ‘
» 1723 4|5 6] 12|

al | a2 . | a3 a4 as ab al t a8 a9  all all al2
«“o|1] 23| /4| 6| |12 | |

T HBENSVEISIRIZHEART=EE RDESLEHELNH S,
FlzIE. 12 D6EDFHEIZ

al

(1] ]

—""

CND&ESIZ. alab=a2+ab=a3-a4=12 &%EH>TL VS,

S N D12BDH%E. al-al2=a2-al1=a3-al0=a4-a9=a5-a8=ab-a7=N

EE-TLNVS,

TR (T)DBEIX, a6:a7=6X12=72 T N=72L 52 LITHEDDT
a5+a8=5Xa8=72 LEBRENHD,

ETAN, a8=72+5=14. 4 £5oT. a8 HA/MRITLEHO>TLEIDT

a8 [EINDHIF LT DA,

LIz T . (NDJ/EMNRINIEITED,

al2

al a2 a3 a4 ad ab al a8 a9 al0 all

@|1]2]|3| /4|6 |12

ab (:Aéé%ui,?, 8,9, 10, 11 K"EZbHh5,
FoT.ChONBHE—DDIDDHTIEIH T, AXRTIKIEIZT S,



9. a6 [Z 72 ANTHS,

‘a1‘ 1a2 a3 'a4 ‘;a5 _ab al a8 a9‘ a10’ ‘a11_ ia12‘
1)(12]|3]|4]|6)[7]]|12 Trr
a6-a7=7X12=84

84 1%.1, 2, 3, 4, 6 TEYYPINAHND, a8 Hhio al2 FTERNHDE

a1‘ a2“a3 ;a4:‘ ad ab al ‘a811a91:a10i‘a11;‘a12‘
12| (8| |4]| |6 |7 (12| 14| 21| |28| |42| | 84
-, B4 FEMHMET DL, 84=2"X3 X7 LH2h5, HBOESIZ

O @DAEN+)=12{ &iEoTLVS,

RIZ, a6 |2 8BFANTH5,

al a2 ad a4 ad ab al a8 a9 al0 all al2

1] (2] [3] [4] [6] [8] [12] ]

a6-a7=8X12=96
06 [E. 1, 2, 3, 4, 6 TEIYLINDH D, a8 Mo al2 FTERDSHE
al a2 a3 a4 ad ab a’ a8 a9 al0 all al2

12| |3| 4| 6| 8| 12| |16 |24 32| 48] | 96
%£1-. 06EREMHRET HL. 96=2"X3 LB hb. HEOEKIE
G+1)(+1)=12{ &GE->TLVS,

KIZ, a6 [Z 9FANTHSB,
al a2 a3 a4 a5 a6 _al a8 a9 al0 all _al2
1] 2] ]3] 4] [6] 9] 12 ] ]
26:a7=9X12=108
108 [£. 1, 2, 3, 4, 6 TEIYYINAM D, a8 HD al2 FTERD DL

al a2 , ad a4 ad ab al a8 a9 | a10‘ all o al2

1][2]3][a]|6]|]|9]|12] [18] |27] |36| |54| |108]

F1-. 1084 EEAMNET 2L, 108=2"X3 L4505, WEOBEHIZ

2+1)(3+1)=12{@ &&->TL\3,



RIZ. a6 [T 10ZANTHS,

al a2 a3 a4 ‘ ad ab al a8 ‘ a9 ‘aIOV all » al2 ‘

'1)12|/3||4||6] 10 |12] |

a6-a7=10X12=120
120 (E. 1, 2, 3, 4, 6 TEYPNSEM5, a8 Hh al2 ETEKRHDHE

al a2 a3 a4 ad 6 al a8 a9 al0 alil al2
1 ‘ ,

1] [2][3] 4] 6] |10] [12] [20] [30] 40] |60] |120

*1- 1202 EEHKSETEE. 120=2"X3' X5 £H505. HEOBEKIE
@+1)A+DI+)=16{F ELE>TWNBDT. a6 [ZT10(LASZLL,
RIz. a6 [Z 11EANTH S,

al a2 ‘ ad ‘ a4 ab ab a7 a8 a9 al0 a11‘ al2

1] [2] (3|4 |6 |11 |12
a6:a7=11X12=132 |
132 (.1, 2, 3, 4, 6 TEIYYINE M5, a8 h'b a12 FTERDBE

al a2 ad a4 ab ab a7 a8 ad al0 all  al2

1] |2]||3| 4|6/ |11]|12] |22 33| 44| 66| |132

F1-. 1322 FEHNETRE. 132=22X3 X11' 422505, HEOEHKIE
@+D)+1D)(1+1)=12{F &#->TLVA,

L1=AS> T, ROHHIEDEHN (X
N = 84, 96, 108, 132

THS,



